Problem 3.8

The bent rod is given a pair of rotations, first by 60° about line AB, and then 30° about line BC,
with the sense of each rotation as shown in the sketch. Let xyz be a coordinate system fixed to the
rod that initially aligned with the fixed XYZ system shown. Determine the transformation by which
vector components with respect to XYZ may be converted to components with respect to xyz.

This problem is from Advanced
Engineering Dynamics by Jerry
Ginsberg and is similar to Exercise
3.13 in the your book.
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Joshua Vaughan
This problem is from Advanced Engineering Dynamics by Jerry Ginsberg and is similar to Exercise 3.13 in the your book.


Problem 3.36 This problem is from Advanced Engineering Dynamics by Jerry Ginsberg

Consider the system in Problem 3.35 in a situation where" is constant at 2 rad/s, while is
constant at 4 rad/s. The entire assembly is rotating about the vertical axis at the constant rate
Q = 8 rad/s. Determine the velocity and acceleration of end C at the instant when = 53.13° and

8 = 20°.
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Joshua Vaughan
This problem is from Advanced Engineering Dynamics by Jerry Ginsberg


